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Mz =0l OIS AHIA MB(HOHH)
9l 8ol Fopl 29 (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
-3 A 65,000& = 12& 780
-= X 3= 12,0008 * 12& 144
OX s A 30,000& = 4CH 120
Ot g2 620
-4 2 2 75,000& * 23] 150
EPNE=PNE 47,0003 « 504 = 23] 470
OxeEEE = 2,350
-AESI2 400,000& = 204 800
-S23= 1,100,000& = 1CH 1,100
-4 E5s SXXE 450
OH ZHl 7,000,000& = 90/100 6,300
202 (4] 5,000 5,000 0
01 2L Y| 5,000 5,000 0
OgHAR =X 5,000
206 M = Hl 4,500 3,000 1,500
01 X2 bl 4,500 3,000 1,500
Og9 g 754l 3,000
O=E313 Z22XTH Ml 1,500
301 dEtEAZ 960 0 960
09 HALAHIBEA = 960 0 960
OFHSXA W SA0IHZ S &N ZA
8,000& * 20H * 63 960
2Z2AIE 2 BHISA 22 (HoH) 91,910 88, 194 3,716
101 @121l 8,350 16,567 NB,217
04 JI2ZtH22XNHEE 8,350 16,567 NB,217
OoHgr=2 2| o8l 66,800& * 20 1,336
OogZ2 2 oA2Y 66,800& * 100 6,680
O33 - 2H0|3t& 4 22 o2
66,800& * 5 334
201 Bt H | 56,060 55,660 400
02 352494l 56,060 55,660 400
OJzs L lss M) 22
2,700,000& * 12& 32,400
Oig=2 AglaE22 10,000 = 128 120
OMY I elx=HE dotx=E2=2
45,000& * 12& 540
O=X3& AlESX bl 2,000
OH= = A bl 2,000
OX&E = XYl 19,000
-4~ 83 = 3,500,000& * 2CH 7,000
-S43 2 8,000,000& * 1CH 8,000
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SN Hoto
M FOIBOIEA KL (Hote)
el RERE XN (Hord) CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O241 otA2EM 2| L Hi=2 4 X (A=1,350
m) 35,000
o242 222 AdtdE AH|(L=100m) 35,000
O¥E1 =2 & (L=150m) 25,000
Q=2 A2 2 Hi2=2 4 X (A=1,800
m) 30,000
OEE1 =24 Xl (L=150m) 25,000
O8E2 24 Actd ¥l Y =2 AX(L=
80m) 30,000
OBE3 AHEXI(5%4) 30,000
OBZE4 =2 & X (L=150m) 25,000
O8E5 s2 & (L=60m) 10,000
O&A =2 U L2 EH|(L=265m) 35,000
O&A2 s2 LA U =24 Xl (L=200m) 35,000
OZAU3 =2 U L2 EH|(L=240m) 35,000
OXY4 =2 L Hi&=2 & X (L=150m) 30,000
ARE THHE ALY (HotH) 59,506 0 59,506
401 AlEHIZL 2 0HY| 59,506 0 59,506
01 Al&EH| 59,506 0 59,506
Q&2 =2 Mal=E32(10m) 6,852
OF2 OIS0t Mol =37 (40m) 17,131
O& 2 HIAE ol =2 (80m) 25,352
O&23 HI& Moil=3(150m) 2,046
OZX&1 A2 =2 MoH=EF7(120m) 3,216
OE ASHE THol= 3 (15m) 4,909
HHSHAY (HOHH) 247,952 281,370 ~33,418
lad Y| (AMetH) 169,279 191,558 N22,279
Ol2AH|(HotH) 169,279 191,558 N22,279
101 e1214| 169,279 191,558 N22,279
03 2INHA2ZXNHE = 169,279 153,922 15,357
O&tdolsts 169,279
-0129/(3¢) 168,919
&= 60,000 * 3% x 23| 360
=Pl (Feret) 78,673 89,812 A11,139
&g (HetdH) 78,673 89,812 AN 11,139
201 et 9| 27,061 33,236 AN6,175
01 AR 22l ] 21,591 25,766 N4, 175
OJlgf+=Zl 9,747
OJlea2&| 3,648
Oonlgxrsz 1,176
-S2AAE2 15,0008 ~ 18 * 12& 180
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